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area increases when its radius is 4 cm ?

What is the principal value of cosec™ (- J2)?
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(a) 7 Z
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(b) =

(d "0

If f:R->R, g:R—> R and gx) =x+3
and (fog)(x) = (x + 3)%, then what is the value

of fi-3) ? !
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What is the value of lim (Xfl) ?

x—1 |x=1}
(b) 1

s R
()

(d) The limit does not exist
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A balloon is pumped at the rate of 4 cm?® per
second. What is the rate at which its surface

102,

103.

VKAD) .}agg\bo SRACEIELE

@ 1 cm¥/sec

() 2 em?/sec B\/\g‘. "]3

(¢) 3 cm?/sec :
(d) 4 cm?/see

of the following is correct ?

(e - p) is real
B 265+ (5 =wp’ Onl. /}
& W-8H=0
(@ (@ +pY=(p?

R o
What is the value of Lpren

1- tan 15°
(a) 1
(b) ‘,/13 i
© —% Ang D |
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If f(x) = kx® — 9x% + 9x + 3 is monotonically
increasing in every interval, then which one
of the following is correct ? '

(a) k<3
i

® k<3 And! D
& k>3 - 3;;;
(d k=3
If sin™} i +sin™! da = , then what is th?‘

X X 2 .
value of x 7 *

£ my 2
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b 7 Shmz s S
p=Y

(C) 13 7 A %;/;; . & <
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equation x* — x + 1 = 0, then which

(a) '



106.

107.

What is the value of +3 cosec 20° — sec 20° ?

(a) 1/4

b 4 5
AP

(¢) 2_

d) 1

The probability distribution of randem
variable X with two missing probabilities p,
and p, is given below : :

It is further given that P(X < 2) = 0-25 and
PX > 4) = 0-35. .

Consider the following statements :

1. py=py i
2. py+py=PX=3 o {a
Which of the statements given abové is/are
correct ?
(a) 1 only ' A
4

My P

(b) 2 only

(¢) Both1and?2

@™ Neither 1 nor 2

X P(X)

3 k ‘ . 4
2 Py B N

3 4.k

4 Py |*® L

5 2k o §5
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| {d} Statement I is false but statement

108. If angles A, B, C are in AP, then what
sin A + 2 sin B + sin C equal to ?

(a) 4 sin B cos® Lég 9)

{b) 4sinB cobs2 (.‘—A-i—c) }IV)MS : _B

4 sin (2B) cos® (f\g_c]

)
(¢]
N

@ 4 sin (2B) cos® ( .é_if?_)

109. Statementl: 1If —1<x<0, then

sl
cos (sin™' x) = — J1-x%.

0}

2

<. StatementII: If -1<x<0, then

S =l
~ - sin (cos7 ! x) = ﬁ- x*
=
s

Which one of the following is correct in res;
of the above statements ?

(@) Both statements I and II
independently correct and statem
is  the  correct  explanation
statement I

{b) Both statements I and II
independently correct but statem
is not the correct explanatio
statement I .

(¢} Statement I is correct but statem

is false

correct
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